SAT Geometry Name: \ﬁ\ @J\

Intersecting lines r, s, and t are shown below.

Iifllt. !
The circle above with center O has a circumference
of 36, What is the length of minor arc AC ?
Vo mm x°

B 12
C) 18 ‘

What ig oy s o v ¢
Dy 36 What is the value of x 7

v=q7°



On PS abovel PQ = RS) Whatis the length of PS 7




Triangle ABC above is isosceles with AB = AC and
BC = 48. The ratio of DE to DF is 5: 7. What is

" \ . the length of DC ?
Point P is the center of the circle in the figure above.
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What is the valueof x 7
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In quadrilateral ABCD above, BC is parallel to AD, bw - & 0 v~
and AB = CD. If BC and AD were each doubled and

BE was reduced by 50 percent, how would the area of Given the right triangle ABC above, which of the
ABCD change?
, ’ . D 20 +<ov 3 following is equal to W ?
A) Thearea of ABCD would be decreased by -7
k 50 percent b o &y\w\ sin A woﬁmﬁ?ﬁ
B) Thearea of ABCD would be increased by ‘ .H‘& D xa: &W« no
o, 50 percent. v sin B

. 'The area of ABCD would not change.
D) The area of ABCD would be multiplied by 2.




In the @gmmwmﬁ the graph of
2x% — 6x+ 2y% + 2y = 45 isa circle. What is the .y
radius of the circle? \%F sqi

(o™

B) 65
C) J40
D) J50

In the figure above, BD i parallel to AE., Whatis
the length of CE 7
m = 306




Triangles ABC and DEF are shown above. Which

BC
of the following is equal to the ratic — B ?

A) DE

In the triangle above, the sine of x° is 0.6. What s
the cosine of y° 7

EF

In the circle above, segment AB is a diameter. If the

length of arc ADB is 8, what is the length of the

radius of the circle?




Note: Figure not drawn to scale.

In the figure above, the circle has center O and has
radius 10. If the length of arc AB (shown in bold) i

between 5 and 6, what is one possible integer

valueof x ?

X°. 200 £ G
W\ A.Wm%
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29414 X°< 3529
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In the figure above, which of the following ratios has

the same value as %mv W
[id s yaiue A el
BC




A landscaper is designing a rectangular fountain

A circle is graphed in the xy-plane. If the circle has a
grep 7P with a 4-foot-wide path around it. The equation

radius of 3 and the center of the circle is at {4,-2), A = dp+64 will relate the area A, in square feet, of

which of the following could be an ﬁﬁwz&m of the the path to the perimeter p, in feet, of the fountain.

circle? hX _ Lv + m % 42 H 0, In the design, how many feet will the perimeter of the
fountain increase for each additional square foot of

the path’s area?

The formula for the volume of a sphere with radius r
is shown above, The radius of the planet Jupiter is
about 11 times the radius of planet Earth. Assuming D) 64
that planets are spheres, about how many times

larger is the volume of Jupiter than the volume of

Earth?

7
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